

EGÉSZ SZÁMOK ÖSSZEADÁSA, KIVONÁSA

$(-8) + (-3) = \square$	$(+7) + (-15) = \square$	$(+11) + (-15) = \square$	$(-18) + (+13) = \square$
$(+5) + (-3) = \square$	$(-5) + (+17) = \square$	$(-15) + (+4) = \square$	$(+45) + (-33) = \square$
$(-3) + (-7) = \square$	$(+9) + (+3) = \square$	$(+45) + (+7) = \square$	$(-53) + (-25) = \square$
$(-8) + (-7) = \square$	$(-4) - (-8) = \square$	$(-12) + (-17) = \square$	$(-28) - (-7) = \square$
$(+20) - (-3) = \square$	$(-25) + (-7) = \square$	$(+33) - (-8) = \square$	$(+57) - (-3) = \square$
$(-25) + (-12) = \square$	$(-5) - (-12) = \square$	$(-13) + (+22) = \square$	$(-45) - (-16) = \square$
$(+8) + (-24) = \square$	$(+8) - (-15) = \square$	$(-8) - (-15) = \square$	$(-27) - (-24) = \square$
$(-30) + (-15) = \square$	$(-14) - (-3) = \square$	$(+42) + (-8) = \square$	$(+19) - (-17) = \square$
$(-8) + (+12) = \square$	$(+12) + (-37) = \square$	$(-18) - (-12) = \square$	$(-38) + (-39) = \square$
$(+31) + (-22) = \square$	$(-52) + (-7) = \square$	$(+45) + (-27) = \square$	$(+26) - (-22) = \square$